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mél'r answers in their ouwn words
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. Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates o read
the guestions carefully.

Page 1 of 44

SS/A/605




5. &% Rvya g avgl § § — @ug-ar >
Uy @wuz-aT|

e —

6. Wog- ¥ 100 Ffrw ww & ©
e @ Fe=T sowyaT @t 37 &1
sfranrd &1 vare @ sifew wv &
IR 7 W swH 50 It @1 &
TegiET e S e weT &
fee 1 siw Fifta &1 @t 39 @1
UG {4 T4 OMR I TEe
R w2 @t R = et ) wTe
@i 47 & wmy w1 fedt o
H&IW & EEgzaw / ave 92 /
T / TgT Wiy FT oMR T-
giedsT ® walr wew WA &,
F=uT SRiEw 9oy sy gy

7. @Wog-a 4 30 @Y Iwvig wyw £ 7

faad 4 fE=T 15 gyt &1 37 34t
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This gquestion booklet s divided into
fwo sechions — Section-A and
Section-B.

In Section-A, there are
100 objective type questions, out
of which any S50 guestions
are o be answered First
50 answers will be evaluated in
case more than 50 gquestions are
answered. Each gueshon carnes
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct optinr
on OMR Answer sheel provided lo
you. Do not use whitener / liguid
[/ blade / nail etc. on OMR-sheet,

otherudse the result will be
treated invalid.

in Section-B, there are 30 short
answer type guestions, out of
which any 15 questions are to be
answered. Each guestion carmes
2 marks. Apart from these, there
are 8 long answer type
guestions, out of which any
4 guestions are to be answered
Each question carries § marks.

Use of any electronic appliances is
strictly prohibited.
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Fwfra W / Objective Type Questions
gFT wear 18 muar*m&mwﬁmﬁvwfﬁﬁ#wﬂﬁh
W;ﬂmﬁ*‘mmﬂ‘mnﬂ'wm‘?ﬁmﬁ oMR ¥z W &
il 50 x 1 =50
Question Nos. 1 to 100 have four gptions, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet.

50 x 1 =50

1. sin(90 -A) =
(A} sinA
(C} tan A (D)

2. 4R a==60" & T cos(a-p) B TH R

(B) cosA

sec A

W 3 B 1
0

o) 2 |

If o =A=60"then the value of cos(a~f) is

. (C)

(A) @ 1

1
2
() © D) 2
3. ﬂﬁﬂ-45=3’t?ﬁsjnu+:usﬂfmrrﬁi

 (A) ;}; B 2
© 3 o 1
\ | e =

'88/A/605 |
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Il 6 = 45° then the value of sin 0 + cos 0 1s

| 110

I

(A) 1 " 2
Y, B) 2
1
(C) > D) 1
4. AR A=30°RV A 2204 5o
1-tan? A
-{A) 2 tan 30° (B) tan 60°
[C) 2 tan 60° (D) tan 30°
If A = 30° then the value of — 21204
1-tan? A
(A) 2 tan 30° .(B) tan 60° "
(C) 2 tan 60° (D) tan 30°
5. ﬂﬁtan&=r1-§2—€ﬁi'lsinﬂa-n:rmi
2 . 12
YA 53 B 33
5 12
€ 13 D) 3
If tanﬂ=1—52— then the value of sin 8 is
S 12
(A) 13 (B) 13
5 12
© = LI
S58/A/605 Page 4 of 4-
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Q) y1-x2 (D)

| 110 ]

cos abv* . tan 80" -
sin31®  cotl0®

I

A B 1

(A) ﬁ [B)

. 3 ]

€ 5 (D) 3

R tan25° x tan65° = sin A B @l FE GRS
(A 25° (B) 65

(C) 90° (D) 45°

If tan 25° x tan 65° = sin A then the value of Ais
Ay 25° (B) 63°
«(C) 90° (D) 45°

aft cosb= x @l tan 0 =
2 2
l+x 1-x
N 2 o I
X

c) y1-x2 (D)
. 1 2

If cosl= x then tan 0 =

fi + x2 e d
() 1+ x (B) l-x

88/A/605 Page 5 of 44




o)

9 (l-cos?0) -
A cos? 0(1-cos? 0) B) sin?o +co8? 0)
(€) sin? 0 (1-sin?0) (M) sin®0(1+ sin? 0)
10, y-31 W fm Rl fag  wa s @ 2
A [y, 0) By (2,y)
(€ (0, x) (D) gl A wré Al
What is the form of a point lying on y-axis ?
(A (v 0) B) (2, u)
(€) (0, x) : (D) None of these
1. k% 58 w1 % R fgam oo ke -6x+1 =0 % el aralas v
JYH 8 2 '
(A) 6 B) 8
.([C) 9 (D) 10

For what valuc of k, roots of the quadratic equation kx? —6x+1 =0
arc rcal and cqual ?

(A) 6 B) 8
(€} 9 (D) 10
12. 3Rk 9gR p(x) ¥ W =6 2 @, A FEifes § w8 pix) T @
TUAEVE § ? '
(A) x-2 B} x+2
.fc) =x-1 (D) x+1
| S8/A/605 Page 6 of 4




| 110]

If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?

(A

(C)

x-2

x=-1

(B x+2
D) x+1

13, 4R 989 mz+u+b%rﬁmnaﬂtﬁﬁ.?ﬁu.ﬂmwﬁi

(A)

(€)

c

b
c

@ =2

2

oo

oy -

If @ and P be the zeros of the polynomial ex? +ax+b then the value

ofa.pis
@ 2
. 2

c

(B)

(D) -

oo

14, Frafefgs 1 8 =9 Zum odiem § 2

(A)

(C)

(x+3) (x-3) =x2-4x3(B) - (x+3)% =4(x+4)

[2:--2]2 =4x?+7

(D) 4x +.i-=4x

Which of the following is a quadratic equation ?

(A)

(C)

(x+3)(x-3) =x*>-4x*(B) (x+3)% =4(x+9)

(2x-2)2 =4x?+7

1
4 —=
[D} x X

[SS/A/605
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15, Prefafm § {99 R w78 & 7 L
(A) Sx-x?=x2:3 B x2-x?=(x-1]
©  (x+3=3(x?-5) (D) (J2x+3)2=2x?+5
Which of the following is not a quadratic equation ?
(A) Sx=-x?=x?2.+3 B) x-xZ=(x-1)"
() (x+3)2=3(x2 -5) (D)  (J2x+3)2=2x%4+5
16. foura wfim 2x2 - 7x +6=0 %1 3= &
- A) 1 By -1
) 27 ' (D) 37
The discriminant of the quadratic equation 2x? ~7x+6=0 is
(A) 1 . B =1
{C} 27 (D) 37
17. P i s g -2 Fdatmawd >
«(A)  (2.0) B (2,1)
) (22) (D) ¥ @ W
Which of the following points lies on the graph of x=2?
(A) (2,0) B) (2,1)
(C) (2,2) - (D) all of these
SS/A /605 Page B of 4
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18, Uk P+ 1..2P+ LAP- 1vum i d § @) pmrwm R
L A B) 2
i 3 | D) 4
IP+1,2P+ 1,4P- | arein A.P. then the value of Pis
(A) 1 (B) 2
) 3 (D) 4
19. SR AR 1,5,9,.. 5 9d FW R
(A) 2 B 3
(C) 4 (D) 5
The common difference of arithmetic progression 1, 5, 9, ... i8
(A) 2 (B) 3
€ 4 D S
20. TAIR AR 5,8, 11, 14, .. FFA-T R38R ?
() 104l @B 118
(c) 1274l D) 134

*Which term of the A.P, 5, 8,11, 14, ...is 38 7
(A) 10th (B) 1lth

(€) 12th (D) 13th

SS/A/605 Page 9 of 44
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M. WRA0,1), 8(0,5)5 C(3,4)fh Janc ¥ M B, @ asncy,
WawE (ol yand 1) R
A 16 | 12
<€) 6 D) 4
MA(0O,1),B(0,5)and C(3, 1) are the vertices of any AABC
then the area (in square unit ) of AABC is
(A} 16 B) 12
€ 6 (D) 4
22, tan 10° | tan 23° . tan B{_F . Lan 67° ".
(A) o ®m 1
© V3 | © 2
23. 3 2 wwEy Pgel & A%El W W 100 ¢ 144 B, @ I T g
W1 I B |
.{A) 10:8 ~ (B) 12:10
(C) 10:12 (D) 10:13
If the ratio of arcas of two similar triangles is 100 : 144 then the
ratio of their corresponding sides is |
(A) 10:8 (B) 12:10
() 10:12 - (D) 10:13
S5/AJ605 _ Page 10 of 4
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E fsell gm &) 2 wem fagail g afrsifa w0 arel Tan & s 8

() e V(B)  Beh
(© it (D) & A = Al

A line which intersects a circle in two distinct points is called
(A)  Chord (B) Secant

(C) Tangent (D) None of these

#Wfﬁﬁiﬁﬁﬁﬂﬂuﬁﬂq:gﬂ:mﬂmﬁgﬁ%hﬁﬁm

25.
Figw e g 2
(A) 9:4 «(B) 16:81
€y 81:16 (D) 2:3
The corresponding sides of two similar triangles are in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?
[A) 9:4 (B] 16:81
(C) B81:16 (D) 2:3
26. AABC ~ADEF @1 BC = 3 ¥ft, EF = 4 &1 21 & AABC 1 BELTS]
54 312 A, ) ADEF %I 8a%e 2
(A) 56 ad? (B) 96 dmi?
© 19682 , (D) 49 @fi?

AABC ~ADEF and BC = 3 cm, EF = 4 cm. II the area of AABC is

54 cm 3, then the area of ADEF is
2 (B) 96cm?

(D) 49 cm 4

(A) 56 cm
©) 196 cm?
88/A/605
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27, Rl g ABC# 2A = 90°, BC = 13 30, Aﬁ-lﬂﬂﬁﬁ?hﬂc?-ﬁlmg
(A) 3§ s (B) 43
(€) 5 &h (D) 6%

In any AABC, £ZA = 90°, BC= 13 cm, AB= 12 cm ; theh the value o

AC s

(A) 3cm (B) 4cm
“{C) Sem (D) 6cm

28. ADEF@Y APQR W Ra1 @ 7% 4D = 20 a1 4R = «E, @t Pi=fafas 5

FR-Tad R 7
«(A) ZF=2p (B) «F =20

(C) <4D=sp D) ZE=2P

In ADEF and APQR it is given that £D = ZQ and ZR = ZE, then
which of the following is correct ?

(A) <LF=2P (B) ZF =20
(C) «D=cP (D) ZE=/P

: AB_BC _CA -
29. MECE#&DEFEW%%DEEFDFQHM 40

£ZB=80°W 2F § A

(A} 30° [\{B] 45°
(C) 60° - (D) 40°
8S/A/605
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AABC and ADEF are such that %-%- Qﬂ‘v- and £A = 40%

28 = 80" ; then the measure of £F is

(A) 30° (B) 45°
(€} 60° (D) 40°

50. 2 w3 g A awaf vl anad A den @
A 1 (B) 2
€ 3 (D) AR

The number of common tangents of two intersecting circles i1s

(A} 1 B) 2
¢ 3 (D) infinitely many

31. ﬂ‘ﬂﬁ*mﬂﬁwaﬂweé:mstﬂmﬂsqﬁhmmm%
(A) 25:8 (B) 25:16
-(C) 16:25 (D) T & HIE T
The ratio of the volumes of two spheres is 64 :125. Then the ratio

of their surface areas is

(A) 25:8 B) 25:16
(€C) 16:25 (D) none of these

32, 2 el 6 Benal % 3N 4 58 T W Il = 3P 6 : 7 W,
W Ik HETH F W R
(A) 96:125 B) 96:175
(€) 175:96 (D) 20:63

Page 13 of 44
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The radii of two cylinders are in the ratio 4 : 5 and their hc:ght l

in the ratio 6 : 7. Then the ratio of their volumes is

(A) 96:125 (B) 96:175
IC) 175:96 (D) 20:63
33, RB0 W skt w1 vt g s @ 2

“A)  =R? (B) 2zR?
C) 3xR? (D) 4xR?
What is the total surface area of a hemisphere of radius R ?
(A)  =R2 B) 2zR?
€ 3=xR? (D) 4nR?
34. AR 5 ¥Wig F awys w1 dwwe 880 M2 2 afk Prew 14 A6 2 A e

ferdes S 2 *
(A) 108 ' (B) 20 &

“(C) 403 (D) 303

If the curved surface area‘nf a cone is 880 emZand its radius is
14 cm, then its slant height is

(A) - 10 cm (B) 20cm
(€} 40cm (D) - 30 cm
3s5. 3fg foeelt g % Rol ) ward 243 @ R o 0% ok o war R
(A) 2@ WB) 243 &
(C) 3@ (D) 4 @
SS/A/605 Page 14 of
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If the length of the diagonal of a cube is 2¥3 ¢m, then the length of
its edge is

(€] 3cm D) 4cm
el w1 W R g @ 9w e g B TEe & T 8 A%
e T @ Smem 2

A) AT . (B) SR

€ & T (D) 9RE T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?

{A) Two times (B) Four times

[C) Sixtimes (D) Twelve times

firdl Y ¥ T 9B AAve 3N I B $ 0 e F T 78 S

%1 g9
A) 2:1 o (B) 4:9
©) 3:2 (D) 4:3

The ratio of the total surface area of a sphere and that of a
hemisphere having the same radius is
(A) 2:1 By 4:9

€ 3:2 D) 4:3

Page 15 of 44
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lll[j.l
o} Rl 33N & ww it ewe 1232 302 @, @ WH B

A 7ad (B) 14 &h

<(C) 21 (D) 288

If the curved surface area of a hemisphere is 1232 cm?then itg

radius is

A) 7em (B] 14 cm
i€} 21 cm (D) 28cm
TR cosO+cos?@=1 sin? 8+sin® 8 w1 WA }
Ay -1 B 1

)y O D)y 2

If cos8+cos?0=1 then the value of sinZ0+sin? 0 is

A -1 B 1

(C) 0 D)y 2

1+ I.:m2 A =

1+ l..‘.'ﬂl.l A

(A) sec? A B -1
€ cot2A D) tan®A

SS/A/605 Page 16 of




31, Pl 3 @a-w fm w omag g i B P

14 e

A) -
2%x3* oSt 5 x7*
8
) ——s 15
:221132 lD:I zﬂuﬁﬂ-

| 110 ]

Which of the following fractions has terminaling decimal

expansion ?
14
N —— :
20 . a2 (1) 2l
8
€ ——s | I L.
24 x3? ) 22 x 53

42, —E_ & sy 0-505 # ferwn a @

2“ Ksm
101 101
(A) (B
2} x52 ] 2! %53
101 101
e - (D) .
22 52 23 52

In the form of _H&F , 0:505 can be written as

2" x5
101 101
A . (B)
* 21 x52 ! %53
101 101
C (D)
i 22 x5° 2% x5?

| S8/A/605
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16,

43 Ry eifeta=bg+r & b=4,q=5 M r= 1 AN a % 09 3 |

“{A) 20 B 21
() 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r= 1, then whay
is the value of @ ?

(A) 20 | 21
€) 25 (D) 31
44. Wg9g 2x?-4x-6 * e §
(A) 1,3 B) -1,3
e} h=3 (D) .-1,-3
The zeroes of the polynomial 2x2 - 4x—6 are
(A) 1,3 B -1,3
() 1L1,-3 (D) -1,-3
45. WEWR (x3+x% +2x+1) (x?+2x+1) %1 9@

(A) ‘3 (B) 4
- )y S (D) ©

The degree of the polynomial [x3 +x2 4+2x4+1)( x% +2x+1) is

A) 3 (B) 4
(C) 5 D) 6 -
SS/A /605 Page 18 of
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E fafafen ¥ w5 wgog i 2 2
A8 x-7 (B) 2x°+7x+6
1 .31
€) X +zx+4 (D) x+%
Which of the following is not a polynomial ?
A x*-7 B) 2x?+7x+6
(C) %xi +-%x +4 (D) x+—;
q7. Frefafea 4 e o agog & 129% 2 @ -287
(A) x2+4 » (B) x2-4
(C) x2-2x+4 (D) 2 4+48
Which of the following gquadratic polynomials has zeroes
2and -2 7
(A) x*+4 | B) x*-4
(C) x2-2x+4 (D) x2 148
98, fe wEWE (2 +7t+10 & YEIH aUd B A a+pH AR
A) 7 (B) 10
ofe) -7 (D) -10
88/A/605 Page 19 of 44
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50.

Sl.

1

| lip
st ey |
If @ and § are the zeroes of the polynomial t"+7t+10 theq the

value of a + ) is

w7 B) 10
cy -7 (D} =10
(5in 30" +cos 30" )~(sin60 +cos60 ) =
A -1 (B) ©
<) 1 D)y 2

gfz feum L [k—l}x2+h+1_ﬁ1u\$1ﬁﬂﬁﬁ—4@ﬁ k&1 W 8

5 5
4 4
< -3 D) 3

If one zero of the quadratic polynomial (k—=1}x% +kx+1 is — 4 the
the value of kKis

5 5
w -2 ® 3
@ -3 o 3

foh wrm fag P @ W W PA @ PB A v Yol @ W R @
PA=8%H &l PB=

(A) 6§ (B) 8&d
(© 123 (D) 16FH

SS /A /605 Page 20 of *




gl e 444

LR

53.

(110 |

From an external point P, two tungents PA and PR are drawn ol

cifﬂlﬂ. If PA= 8 cm then Pl =

(A) Gcm (B) 8cm

(€) 12cm (D) 16 cm

o PATE PB Rl aTa fag pit g o ard g v it rf el vund ¥

ud ZAPB = B0" @) £POA =

(A) 40° B) 50°
€ 80 (D) 60°

If PA and PB are the tangents drawn from an external point Pto a
circle with centre at O and ZAPB = 80° then £LPOA =

(A) 40° (B) 50° |

(C) 80° | (D) 60°

ga W fea Rt farg w it i el T, et g & Ao oM el B
A -8 ® &= R 2

(a) 307 » (B) 45°

(©) 60° (D) 90°
What is the angle between the tangent drawn at any point of a

cirele and the radius passing through the point of contact ?

(A) 30° B) 45°

fc) 60° (D) 907

SS8/A/605
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Qo) @ Rewadl &1 R 3 -4 3 Sk st a1 g R
(S UBBEIRCSE | (LU I B
W wie i a:e

The ratio of the vadii of two circles is 3 1 4 3 then the ratio of they
SRR 1%

(E U |]  2:3
) 910 D) 16:9
SN 4:%%1@\3&1%‘.3&Mnt&mtw“}:ﬂaw&wilﬂﬁ%
USRS B A1e ¥
©)  ds2 ¥R D) 406 2
The arca of the sector of & circle of radius 42 cm and central angle
30* s
A S15em? B 416 em?
© 482cm? (D) 406 cm?
$6. el & o W s $: 7AW WA Dl wn vgum &
A) 7:5 B) §:7
) 25:49 (D) 49:2%
mcmﬂuufth:mm:oﬂmchﬂﬂhs ' T 3 then
ratio of their radii is
A 7:5 B S:7
(C) 25:49 (D) 49:2%
[ SS/A/605 N

Page 22 o




- S

.L
g 1101
k@ 7scc? A-Ttan? A=
(A} 49 B 7
r 2" D) ©
g, UR x=acosO M y=bsino @ b2x?+a?y? =
| & ® ab
@ a'v’ D) a®#b
if x=acos® and y=bsin0 then p2x? +aly? =
(A) a’p? B) ab
(©) a*p? D) a%+ 2
59. ﬁm#:ﬁiﬂmﬁmmﬁ:mﬁ o & gh @ 60° &, AR
%) urf 2
() 107 @ 10437
(€) 15J3H D) 2043

The angle of elevation of the top of a tower at a distance of 10 m

from its base is 60° ; then the height of the tower is

(A) 10m (B) 1043 m

(€} 15/3m (D) 2043 m

Page 23 of 44
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Bl.

G2.

wh wan ged) A 30 W) A Sard w R 3l gl B yelt 4 g l Iy

" g
AT R, W 2 ) e R

A 30dEW @) 3543

€1 2043 W » (D) 4542

A Kite 1s o at a height 30 m from the earth and its string makes
angle 60" with the*carth. Then the length of the string is

(A} 30J2m (B) 35J3m

(€C) 2043m (D)  45J2m

afe fowell waiat ) @1 59 vz 11 wd wd St 2 R @ IRy g
&m ?

(A} 1 . . (B) 2

c) 3 (D) 4 :

If Sth term of an A.P. is 11 and common differernce is 2 then wh
15 1ts first term ?

(A) 1 . (B3) 2
(C}) 3 (D) 4

nqﬁmﬁm%ﬁ[?ﬁﬂ ne+2n +1 i'ﬂl\mﬁﬁ‘lﬁ%

(A) 29 (B) 19
. (C) 15 (D) FH |/ F§ 7
The sum of an A.P. with nterms is n? +2n +1 then its 6th term .
(A) 29 (B) 19
(C) 15 (D} none of these

SS/A/605 Page 24
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%, praferfad A HH e 8 R o
| (A) 1,7, 9,16, .. @ x2 x5 o b o
©  * 2x, 3x, 4x, .., o) 22, 4?2 62,82, ...
which of the following is in an A.P, ?
(A 1, 7,9, 16, ... (B) x2. x3, 2 5.
(€ % 2x3xn4x,.. D) 22,47 67, 8%
g, AT f 1 i 4 4 gl R 2
A 1L2,3.4%. B 3,6,9 12, ..
€) 2.4.6,8,.. (D) 22 4% 6%, 8%
Which of the following is not in an AP ?
,- A 1,23, 4, .. (B) 3,6,9 12, ...
| (C) 2,4.6,8, .. o) 2% 4%, 6%, 8% ..
o5 EE A4 1,4, 7, 10, ... % 9 20 Y& & AT &
(A) 500 (B] 540
(C) 590 (D) 690
The sum of first 20 terms of the AP 1,4,7,10,..18
(A) 500 (B) 540
{c} 590 (D) 690
Page 25 of 44
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5. &% Rvya g avgl § § — @ug-ar >
Uy @wuz-aT|

e —

6. Wog- ¥ 100 Ffrw ww & ©
e @ Fe=T sowyaT @t 37 &1
sfranrd &1 vare @ sifew wv &
IR 7 W swH 50 It @1 &
TegiET e S e weT &
fee 1 siw Fifta &1 @t 39 @1
UG {4 T4 OMR I TEe
R w2 @t R = et ) wTe
@i 47 & wmy w1 fedt o
H&IW & EEgzaw / ave 92 /
T / TgT Wiy FT oMR T-
giedsT ® walr wew WA &,
F=uT SRiEw 9oy sy gy

7. @Wog-a 4 30 @Y Iwvig wyw £ 7

faad 4 fE=T 15 gyt &1 37 34t
Hfqard §1 geiw 577 & [ 2 sw
Fuifea &1 7 sifafis, w9 @ves &
8 I IFTT wvr B9 vd & e
# f&=27 4 9w &1 I7 &7 7
TG 7 & faw s st Fraffea €1

8. gt gt & wewgi® agErg @ &
st quiTRT @i g

| 110 |

This gquestion booklet s divided into
fwo sechions — Section-A and
Section-B.

In Section-A, there are
100 objective type questions, out
of which any S50 guestions
are o be answered First
50 answers will be evaluated in
case more than 50 gquestions are
answered. Each gueshon carnes
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct optinr
on OMR Answer sheel provided lo
you. Do not use whitener / liguid
[/ blade / nail etc. on OMR-sheet,

otherudse the result will be
treated invalid.

in Section-B, there are 30 short
answer type guestions, out of
which any 15 questions are to be
answered. Each guestion carmes
2 marks. Apart from these, there
are 8 long answer type
guestions, out of which any
4 guestions are to be answered
Each question carries § marks.

Use of any electronic appliances is
strictly prohibited.

SS/A/605
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Il 6 = 45° then the value of sin 0 + cos 0 1s

| 110

I

(A) 1 " 2
Y, B) 2
1
(C) > D) 1
4. AR A=30°RV A 2204 5o
1-tan? A
-{A) 2 tan 30° (B) tan 60°
[C) 2 tan 60° (D) tan 30°
If A = 30° then the value of — 21204
1-tan? A
(A) 2 tan 30° .(B) tan 60° "
(C) 2 tan 60° (D) tan 30°
5. ﬂﬁtan&=r1-§2—€ﬁi'lsinﬂa-n:rmi
2 . 12
YA 53 B 33
5 12
€ 13 D) 3
If tanﬂ=1—52— then the value of sin 8 is
S 12
(A) 13 (B) 13
5 12
© = LI
S58/A/605 Page 4 of 4-
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If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?

(A

(C)

x-2

x=-1

(B x+2
D) x+1

13, 4R 989 mz+u+b%rﬁmnaﬂtﬁﬁ.?ﬁu.ﬂmwﬁi

(A)

(€)

c

b
c

@ =2

2

oo

oy -

If @ and P be the zeros of the polynomial ex? +ax+b then the value

ofa.pis
@ 2
. 2

c

(B)

(D) -

oo

14, Frafefgs 1 8 =9 Zum odiem § 2

(A)

(C)

(x+3) (x-3) =x2-4x3(B) - (x+3)% =4(x+4)

[2:--2]2 =4x?+7

(D) 4x +.i-=4x

Which of the following is a quadratic equation ?

(A)

(C)

(x+3)(x-3) =x*>-4x*(B) (x+3)% =4(x+9)

(2x-2)2 =4x?+7

1
4 —=
[D} x X

[SS/A/605

Page 7 of 44



Y
9 (1-cost0) =
A} cos? o[l ~cos? 0) (B) sin?o( +cou? 1))
(€)  sin?0(1-sin?0) (D)  sin? 0 (1+sin? 0)
10, y-38 W Run fal fag w1 s A R 7
Al (0] B} (2,y)
(C) (0, x) (D) i A =
What is the form of a point lying on y-axis ?
(A (w0} B) (2,y)
(€} (0, x) _ (D) None of these
1. k% 8 wm $ R fRum afiem k? -6x+1 =0 ® ¥F arfas w
a9 § ? |
(A) 6 B) 8
.{C) 9 (D) 10
For what value of k, roots of the quadrétic equation kx? —-6x+1 =0
arec real and equal ?
(A} 6 B) 8
(C) 9 (D) 10
12, ﬂﬁiﬁﬁ pix) ﬂﬁ?{?ﬁﬁi@l, Eﬁ_ﬁﬂﬁ-‘iﬁiﬁﬁﬂq p(x) 1 U3
IAGETE § 7 |
A) x-2 (B] x+2
() x-1 (D) x+1
SS/A/605 Page 6 of 4
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Q) y1-x2 (D)

| 110 ]

cos abv* . tan 80" -
sin31®  cotl0®

I

A B 1

(A) ﬁ [B)

. 3 ]

€ 5 (D) 3

R tan25° x tan65° = sin A B @l FE GRS
(A 25° (B) 65

(C) 90° (D) 45°

If tan 25° x tan 65° = sin A then the value of Ais
Ay 25° (B) 63°
«(C) 90° (D) 45°

aft cosb= x @l tan 0 =
2 2
l+x 1-x
N 2 o I
X

c) y1-x2 (D)
. 1 2

If cosl= x then tan 0 =

fi + x2 e d
() 1+ x (B) l-x

88/A/605 Page 5 of 44
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18, Uk P+ 1..2P+ LAP- 1vum i d § @) pmrwm R
L A B) 2
i 3 | D) 4
IP+1,2P+ 1,4P- | arein A.P. then the value of Pis
(A) 1 (B) 2
) 3 (D) 4
19. SR AR 1,5,9,.. 5 9d FW R
(A) 2 B 3
(C) 4 (D) 5
The common difference of arithmetic progression 1, 5, 9, ... i8
(A) 2 (B) 3
€ 4 D S
20. TAIR AR 5,8, 11, 14, .. FFA-T R38R ?
() 104l @B 118
(c) 1274l D) 134

*Which term of the A.P, 5, 8,11, 14, ...is 38 7
(A) 10th (B) 1lth

(€) 12th (D) 13th

SS/A/605 Page 9 of 44
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15, Prefafm § {99 R w78 & 7 L
(A) Sx-x?=x2:3 B x2-x?=(x-1]
©  (x+3=3(x?-5) (D) (J2x+3)2=2x?+5
Which of the following is not a quadratic equation ?
(A) Sx=-x?=x?2.+3 B) x-xZ=(x-1)"
() (x+3)2=3(x2 -5) (D)  (J2x+3)2=2x%4+5
16. foura wfim 2x2 - 7x +6=0 %1 3= &
- A) 1 By -1
) 27 ' (D) 37
The discriminant of the quadratic equation 2x? ~7x+6=0 is
(A) 1 . B =1
{C} 27 (D) 37
17. P i s g -2 Fdatmawd >
«(A)  (2.0) B (2,1)
) (22) (D) ¥ @ W
Which of the following points lies on the graph of x=2?
(A) (2,0) B) (2,1)
(C) (2,2) - (D) all of these
SS/A /605 Page B of 4
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I.llﬂl

27.  Rd) P ABCH 2A = 90°, BC= 13381, AB= 1280 8@ ACH 513
(A} 3 & (B) 48

() 5 st (D) 6@

In any AABC, £A =90° BC= 13 cm, AB= 12 ¢cm ; theh the value g

ACis
(A) 3 cm (B) 4 cm
7€) Sem (D) 6cm
28. ADEFaW APQR# 1 @ 6 4D = 2Q oW1 4R = £E, M fr=foifgn i
HHE-T @6} P
« (A) ZLF=4P I[B] LF =/2Q
(C) 2D=2sP (D) ZE=ZP

In ADEF and APQR it is given that £D = £ZQ and £ZR = ZE, the

which of the following is correct ?
(A) <LF=ZLP ~ (B) <£F =40Q
(C) <«£D=ZP (D) <ZE=/<P

: AE:IEC=CA 'quﬂ.
29. AABC W ADEF % ¥oR € 1% == =g ©

ZB=80°dl £F #1 AW 2

(a)  30° Dy as°
(C) 60° (D) 40°
SB;A,EUS Page 12 of #
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E fsell gm &) 2 wem fagail g afrsifa w0 arel Tan & s 8

() e V(B)  Beh
(© it (D) & A = Al

A line which intersects a circle in two distinct points is called
(A)  Chord (B) Secant

(C) Tangent (D) None of these

#Wfﬁﬁiﬁﬁﬁﬂﬂuﬁﬂq:gﬂ:mﬂmﬁgﬁ%hﬁﬁm

25.
Figw e g 2
(A) 9:4 «(B) 16:81
€y 81:16 (D) 2:3
The corresponding sides of two similar triangles are in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?
[A) 9:4 (B] 16:81
(C) B81:16 (D) 2:3
26. AABC ~ADEF @1 BC = 3 ¥ft, EF = 4 &1 21 & AABC 1 BELTS]
54 312 A, ) ADEF %I 8a%e 2
(A) 56 ad? (B) 96 dmi?
© 19682 , (D) 49 @fi?

AABC ~ADEF and BC = 3 cm, EF = 4 cm. II the area of AABC is

54 cm 3, then the area of ADEF is
2 (B) 96cm?

(D) 49 cm 4

(A) 56 cm
©) 196 cm?
88/A/605
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M. WRA0,1), 8(0,5)5 C(3,4)fh Janc ¥ M B, @ asncy,
WawE (ol yand 1) R
A 16 | 12
<€) 6 D) 4
MA(0O,1),B(0,5)and C(3, 1) are the vertices of any AABC
then the area (in square unit ) of AABC is
(A} 16 B) 12
€ 6 (D) 4
22, tan 10° | tan 23° . tan B{_F . Lan 67° ".
(A) o ®m 1
© V3 | © 2
23. 3 2 wwEy Pgel & A%El W W 100 ¢ 144 B, @ I T g
W1 I B |
.{A) 10:8 ~ (B) 12:10
(C) 10:12 (D) 10:13
If the ratio of arcas of two similar triangles is 100 : 144 then the
ratio of their corresponding sides is |
(A) 10:8 (B) 12:10
() 10:12 - (D) 10:13
S5/AJ605 _ Page 10 of 4
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The radii of two cylinders are in the ratio 4 : 5 and their hc:ght l

in the ratio 6 : 7. Then the ratio of their volumes is

(A) 96:125 (B) 96:175
IC) 175:96 (D) 20:63
33, RB0 W skt w1 vt g s @ 2

“A)  =R? (B) 2zR?
C) 3xR? (D) 4xR?
What is the total surface area of a hemisphere of radius R ?
(A)  =R2 B) 2zR?
€ 3=xR? (D) 4nR?
34. AR 5 ¥Wig F awys w1 dwwe 880 M2 2 afk Prew 14 A6 2 A e

ferdes S 2 *
(A) 108 ' (B) 20 &

“(C) 403 (D) 303

If the curved surface area‘nf a cone is 880 emZand its radius is
14 cm, then its slant height is

(A) - 10 cm (B) 20cm
(€} 40cm (D) - 30 cm
3s5. 3fg foeelt g % Rol ) ward 243 @ R o 0% ok o war R
(A) 2@ WB) 243 &
(C) 3@ (D) 4 @
SS/A/605 Page 14 of
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AABC and ADEF are such that %-%- Qﬂ‘v- and £A = 40%

28 = 80" ; then the measure of £F is

(A) 30° (B) 45°
(€} 60° (D) 40°

50. 2 w3 g A awaf vl anad A den @
A 1 (B) 2
€ 3 (D) AR

The number of common tangents of two intersecting circles i1s

(A} 1 B) 2
¢ 3 (D) infinitely many

31. ﬂ‘ﬂﬁ*mﬂﬁwaﬂweé:mstﬂmﬂsqﬁhmmm%
(A) 25:8 (B) 25:16
-(C) 16:25 (D) T & HIE T
The ratio of the volumes of two spheres is 64 :125. Then the ratio

of their surface areas is

(A) 25:8 B) 25:16
(€C) 16:25 (D) none of these

32, 2 el 6 Benal % 3N 4 58 T W Il = 3P 6 : 7 W,
W Ik HETH F W R
(A) 96:125 B) 96:175
(€) 175:96 (D) 20:63

Page 13 of 44
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31, Pl 3 @a-w fm w omag g i B P

14 e

A) -
2%x3* oSt 5 x7*
8
) ——s 15
:221132 lD:I zﬂuﬁﬂ-

| 110 ]

Which of the following fractions has terminaling decimal

expansion ?
14
N —— :
20 . a2 (1) 2l
8
€ ——s | I L.
24 x3? ) 22 x 53

42, —E_ & sy 0-505 # ferwn a @

2“ Ksm
101 101
(A) (B
2} x52 ] 2! %53
101 101
e - (D) .
22 52 23 52

In the form of _H&F , 0:505 can be written as

2" x5
101 101
A . (B)
* 21 x52 ! %53
101 101
C (D)
i 22 x5° 2% x5?

| S8/A/605
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1-

lll[j.l
o} Rl 33N & ww it ewe 1232 302 @, @ WH B

A 7ad (B) 14 &h

<(C) 21 (D) 288

If the curved surface area of a hemisphere is 1232 cm?then itg

radius is

A) 7em (B] 14 cm
i€} 21 cm (D) 28cm
TR cosO+cos?@=1 sin? 8+sin® 8 w1 WA }
Ay -1 B 1

)y O D)y 2

If cos8+cos?0=1 then the value of sinZ0+sin? 0 is

A -1 B 1

(C) 0 D)y 2

1+ I.:m2 A =

1+ l..‘.'ﬂl.l A

(A) sec? A B -1
€ cot2A D) tan®A

SS/A/605 Page 16 of
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If the length of the diagonal of a cube is 2¥3 ¢m, then the length of
its edge is

(€] 3cm D) 4cm
el w1 W R g @ 9w e g B TEe & T 8 A%
e T @ Smem 2

A) AT . (B) SR

€ & T (D) 9RE T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?

{A) Two times (B) Four times

[C) Sixtimes (D) Twelve times

firdl Y ¥ T 9B AAve 3N I B $ 0 e F T 78 S

%1 g9
A) 2:1 o (B) 4:9
©) 3:2 (D) 4:3

The ratio of the total surface area of a sphere and that of a
hemisphere having the same radius is
(A) 2:1 By 4:9

€ 3:2 D) 4:3

Page 15 of 44
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49,

50.

Sl.

1

| lip
st ey |
If @ and § are the zeroes of the polynomial t"+7t+10 theq the

value of a + ) is

w7 B) 10
cy -7 (D} =10
(5in 30" +cos 30" )~(sin60 +cos60 ) =
A -1 (B) ©
<) 1 D)y 2

gfz feum L [k—l}x2+h+1_ﬁ1u\$1ﬁﬂﬁﬁ—4@ﬁ k&1 W 8

5 5
4 4
< -3 D) 3

If one zero of the quadratic polynomial (k—=1}x% +kx+1 is — 4 the
the value of kKis

5 5
w -2 ® 3
@ -3 o 3

foh wrm fag P @ W W PA @ PB A v Yol @ W R @
PA=8%H &l PB=

(A) 6§ (B) 8&d
(© 123 (D) 16FH

SS /A /605 Page 20 of *
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E fafafen ¥ w5 wgog i 2 2
A8 x-7 (B) 2x°+7x+6
1 .31
€) X +zx+4 (D) x+%
Which of the following is not a polynomial ?
A x*-7 B) 2x?+7x+6
(C) %xi +-%x +4 (D) x+—;
q7. Frefafea 4 e o agog & 129% 2 @ -287
(A) x2+4 » (B) x2-4
(C) x2-2x+4 (D) 2 4+48
Which of the following gquadratic polynomials has zeroes
2and -2 7
(A) x*+4 | B) x*-4
(C) x2-2x+4 (D) x2 148
98, fe wEWE (2 +7t+10 & YEIH aUd B A a+pH AR
A) 7 (B) 10
ofe) -7 (D) -10
88/A/605 Page 19 of 44
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16,

43 Ry eifeta=bg+r & b=4,q=5 M r= 1 AN a % 09 3 |

“{A) 20 B 21
() 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r= 1, then whay
is the value of @ ?

(A) 20 | 21
€) 25 (D) 31
44. Wg9g 2x?-4x-6 * e §
(A) 1,3 B) -1,3
e} h=3 (D) .-1,-3
The zeroes of the polynomial 2x2 - 4x—6 are
(A) 1,3 B -1,3
() 1L1,-3 (D) -1,-3
45. WEWR (x3+x% +2x+1) (x?+2x+1) %1 9@

(A) ‘3 (B) 4
- )y S (D) ©

The degree of the polynomial [x3 +x2 4+2x4+1)( x% +2x+1) is

A) 3 (B) 4
(C) 5 D) 6 -
SS/A /605 Page 18 of
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lll\‘wi
Qo) @ Rewadl &1 R 3 -4 3 Sk st a1 g R
(S UBBEIRCSE | (LU I B
W wie i a:e

The ratio of the vadii of two circles is 3 1 4 3 then the ratio of they
SRR 1%

(E U |]  2:3
) 910 D) 16:9
SN 4:%%1@\3&1%‘.3&Mnt&mtw“}:ﬂaw&wilﬂﬁ%
USRS B A1e ¥
©)  ds2 ¥R D) 406 2
The arca of the sector of & circle of radius 42 cm and central angle
30* s
A S15em? B 416 em?
© 482cm? (D) 406 cm?
$6. el & o W s $: 7AW WA Dl wn vgum &
A) 7:5 B) §:7
) 25:49 (D) 49:2%
mcmﬂuufth:mm:oﬂmchﬂﬂhs ' T 3 then
ratio of their radii is
A 7:5 B S:7
(C) 25:49 (D) 49:2%
[ SS/A/605 N
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%, praferfad A HH e 8 R o
| (A) 1,7, 9,16, .. @ x2 x5 o b o
©  * 2x, 3x, 4x, .., o) 22, 4?2 62,82, ...
which of the following is in an A.P, ?
(A 1, 7,9, 16, ... (B) x2. x3, 2 5.
(€ % 2x3xn4x,.. D) 22,47 67, 8%
g, AT f 1 i 4 4 gl R 2
A 1L2,3.4%. B 3,6,9 12, ..
€) 2.4.6,8,.. (D) 22 4% 6%, 8%
Which of the following is not in an AP ?
,- A 1,23, 4, .. (B) 3,6,9 12, ...
| (C) 2,4.6,8, .. o) 2% 4%, 6%, 8% ..
o5 EE A4 1,4, 7, 10, ... % 9 20 Y& & AT &
(A) 500 (B] 540
(C) 590 (D) 690
The sum of first 20 terms of the AP 1,4,7,10,..18
(A) 500 (B) 540
{c} 590 (D) 690
Page 25 of 44

S8/A/605




’——__—‘ﬁ

),

Bl.

G2.

wh wan ged) A 30 W) A Sard w R 3l gl B yelt 4 g l Iy

" g
AT R, W 2 ) e R

A 30dEW @) 3543

€1 2043 W » (D) 4542

A Kite 1s o at a height 30 m from the earth and its string makes
angle 60" with the*carth. Then the length of the string is

(A} 30J2m (B) 35J3m

(€C) 2043m (D)  45J2m

afe fowell waiat ) @1 59 vz 11 wd wd St 2 R @ IRy g
&m ?

(A} 1 . . (B) 2

c) 3 (D) 4 :

If Sth term of an A.P. is 11 and common differernce is 2 then wh
15 1ts first term ?

(A) 1 . (B3) 2
(C}) 3 (D) 4

nqﬁmﬁm%ﬁ[?ﬁﬂ ne+2n +1 i'ﬂl\mﬁﬁ‘lﬁ%

(A) 29 (B) 19
. (C) 15 (D) FH |/ F§ 7
The sum of an A.P. with nterms is n? +2n +1 then its 6th term .
(A) 29 (B) 19
(C) 15 (D} none of these

SS/A/605 Page 24
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,m“‘}ﬂ -tan? 45" o

w1 m L
(H) 2
|
1 D) o
1l. e & 8 R R wque & w3 g - 10 #2
W *+7x-30 B x?-7x-30
. g
(€) %7 +7x+30 (D) x?-Tx+30
which of the following quadratic polynomials has ZEr0Cs
gand-107
(A) 1_2 +7x-30 B x*-7x-30
(€) x?47x+30 D) x%-7x+30
7. ﬂﬁﬂﬁﬂﬁ@i%@ﬁﬂwgqﬁﬁw—ﬂ.ﬂﬂ
foum WRWE 2
A) x%-3x-2 (B) x2-3x+3
© x*-2x+3 (D) x%+3x-2
If the sum of zeros of a quadractic polynomial is 3 and their
product is - 2 then that quadratic polynomial is
)  x%-3x-2 B) x%-3x43
[6) x*-2x+3 (D) x?+3x=2
[88/A/605 Page 27 of 44
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g 1101
k@ 7scc? A-Ttan? A=
(A} 49 B 7
r 2" D) ©
g, UR x=acosO M y=bsino @ b2x?+a?y? =
| & ® ab
@ a'v’ D) a®#b
if x=acos® and y=bsin0 then p2x? +aly? =
(A) a’p? B) ab
(©) a*p? D) a%+ 2
59. ﬁm#:ﬁiﬂmﬁmmﬁ:mﬁ o & gh @ 60° &, AR
%) urf 2
() 107 @ 10437
(€) 15J3H D) 2043

The angle of elevation of the top of a tower at a distance of 10 m

from its base is 60° ; then the height of the tower is

(A) 10m (B) 1043 m

(€} 15/3m (D) 2043 m

Page 23 of 44
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66. Prefafa o Fws H | H w2

Eiﬂg'ﬂ. »* msgﬂ'

(A) sin? 60 +cos 60 (B)

© sin® 60" (D) sin 45" % ——=
cos 45

Which of the following values is equalto 1 7

{A) sin? 60 +cos 60 (B) sin 90 = €OS 90"

(€) sin?60° (D) sin45 —
cos45

67. vosZAll+tan? A)=
(A) sin’A | (B) cosec?A

e
(€) i {D) tans A

68. tﬂﬂﬂﬂ. =

W VB ® L
(€) -;}-5 ' ® 1
69, cos60°=
g @ L
© *}—5 D) 1

S5/ A /605
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‘ the graphs of two | l g I
o . iicar equations are parallel then the number
o solutions will be

! B 2

infinitel
@ ! J Ry (D)  none of these

m H " Tq Sx-qy'l‘B:Dﬁ ?I.‘_Ey_gsui

A q (B) ¥

€ o) wAARE

The pair of linear equations 5x-4y+8=0 and 1x+6y-9=0 is

. (o) consistent (B) inconsistent
[c) dependent (D) none of these
7, 4R fom wiww 3x2 _5x+2=0 (o T PE M o spREIARL
13 9
£l 3
Ifaahd p are roots of the quadratic equation 3x2 -5x+2=0 then
the value of o2 +p? is
13 3
(A) 9 B 13
© 2 3
© 3 D s
58/4/605 | Page 29 of 44
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73l px) =x® =263 +17x% - 4x+30 B q(x)=x+2 B W fem oy
A WrTHe &) Wi 2}
A}y 6 B 3
Cy 4 (D) S
Il pix) =x? =253 $17x% -ax+30 is divided by g(x)=x+2 the,
the degree of the quoticnt is
A} 6 B 3
cy 4 (D) 5

74. x+2y+3=0, 3x+6y+9=0 & T g &1 2

-

A) T B) w1 EH i
,(€) sEFFAEE (D) @ B =E T
How many solutions will x+2y+3=0, 3x +6y+9=0 have ?
(A) One solution
(B) No sclution
(C) Infinitely many solutions

(D) None of these
75 2 Yias adiEwl & Gaiea 3tk gaiat € @ g H ged g

(A) 1 (B) 2
, () FEfEa (D) ¥ | w7
SS/A /605 Page 28 of




| 110]
is th
‘\!ﬂ!ﬂl is the nature of the roots of the quadratic equation
gt -6+ 3=07

(A real and unequal (B) real and equal
) ot real (D)  none of these
" of 1 2-5,5-8,8- 11, .. % 7l ) wierd 2
n ¢ B 3
ol (D) 35
The length of the class intervals of the classes,
5.5,5-8,8-11,..1s
w2 B) 3
e 4 (D) 33
0 ot = wan feren wEnati W e 61, A wad w§ dom
) 45 B) 9
. {c] 21 | D] 15
If the mean of four consecutive odd aumbers is 6 then the largest
number is
W 45 B 9 x
c) 21 (D) 15

B T 6§ SIHT HEAH F A R

A} 4 B)- 6

c 7 - D) A = A
The mean of first b even natural numbers is
w4 B 6

© 7 (D) none of these

s
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ltlﬂi

o '&ﬁmﬂﬂmlx‘-?’t—p-ﬂ*1‘5*153!‘“\!'*‘““3
A 9 - {B) - 4
icy -6 Dy ©

4 _p=0is 2 th
If one root of the quadratic equation 2x _7x-p=018 en the

value of p is
(A) 4 ®, -4
c -6 (D) ©

79 uf: feawm e 2y? —x—6=0 F T T =2 R @ g 0 R

A) -2 B) 2

© 3 D) 3

.. =3
If one root of the quadratic equation ox?-x-6=0 18 —i—ﬂ'_tcn

 another root is

(A) -2 B 2

© 3 o) 3
g0, femm e 2x? - 6x+3=0 s AR TR ?
(A) ATl @ FEAH B) STl U4 W

() et T o) @ o
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Vo, ‘!'liﬂﬂiﬂ‘lihtﬂliwq.mswhﬂ!ﬂ"ﬂ!im!
A 1
w1 I
1 2
© < (L) 3

The probability of getting & number 4 or 5 in throwing a dic ig

1 1
(A) 2 (B) 3
1 2
(C) r3 (D) 3 '
91. fag (8 sin 60°, 0) T {n,amsﬁﬂ“ﬁﬁ?ﬁiﬂ%
(A) 8 (B 25
1
c —
() 64 (P) 3

The distance between the points ( & sin 60°% 0 )} ang

[ﬂ.ﬁmnﬁﬂ’]in
® 25

1
C 64 : ¥ ==
©) o 3

uﬁo(u,ulﬁlﬁaﬁmﬂ%P*ﬁiﬂiﬁ(mglﬁ?ﬁ@ oP?

@A) =2 -y B) yx?+y’

© - D) i d

(A) 8

92.

S8/A/605




(110
I
arce thrown at the same time. What is the probability that

#"’"
Mgrcﬂcf of the numbers appearing on top is zero 7
\ B 1
W 5 (B) 5
_ 5 S
o B P 35

i-_wﬁmﬂﬁﬂmaﬁi ¥ 61 wfgew R

 : B) L
W2 3
L = :
© 3 (D}
[ ﬁpﬂbﬂhlht}' of getting heads on both the coins in throwing two
|:| i&*ﬁia
i . 1 l
@ 3 B 3
o D) 1
. (D)
’“"ﬁﬁﬁﬂﬁmw@mﬂmmilm&:aﬁlmﬁﬁmﬁﬂ
m 2 ,
1
W 2 B 15
- :
".' -é-t- LI

.

Mh is selected at random in a year. The probability of it being
| |

ar September is

1

Bl 13
1

(D) a
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%3 e ml" &

A} sin?0 L cosee0

(€1 twan?o (o) sec’
8S. 8. 7.9 3.9, 5 4,85, 7 5% W ¢

A} S ® 7

) 8 o °

The mode of 8, 7.9, 3, 9. 5 4,5.7, Sis

A S o7

) 8 o 9
86. =2 P(E)=0-027W PE') wwwt &

(A) 002 B) 0-002

(©) o098 (D) 097

if P(E)=0-02 then P(E’) is equal t0

w D_nz [Bi U'Dﬂﬂ

() 098 (o) 097
87. ﬁmﬂﬁwmhrmhﬂmﬁmé Sl H AW IR T

s ?

1 B =
(A) 36 (B) 6
5. 5

€ 13 D} =g

[Ss/A/605 | - Page 324




; |
tin which uadrant does the point | g, -4 )le? Vg

(1 gecond

Al First
€ Third () Fourh
o Pusfufun A sa-w g wguta & R B 2
(A 13,2) w (=32
© (3,-2) @ (=3-2)
Which of the following poinis lics i1 second quadrant #
A (3,2) B (=3.2)
€ (3,-2) o) (=3-2)
97. fta_"m'igq,_4}aﬂ1[-4,d]ﬂﬁiﬁﬂﬁ'ﬂém&;qwfﬂ
frmies & )
(A) (4.4) «(B) (0,0])
{C) (0,-4) .lﬂ] " (=4.0)
Thr.- co-ordinates of the mid-peint of the line segment joining -.
points (4, -4 ) and (-4, 4 ) are [
(A) (4.4) B (0,0)
) (0,-4) D) (-4,0)
98. t::;:l;:mfﬂ[ﬂ,djt-mﬁﬁaﬂiﬁmﬁ (5, 7)E5 %R
i*:; (2,-2) ® (1,-1)
ss;ﬁmusl e R -
Page 36 i




' en (e distance OP is
N X2 -yt B)
© x3 - y’ (D] none of these
b.;mi\ﬂm 12, 14) @ zO R
tm 12 (B) 14
© 13 D) 15

The distance of the point ( 12, 14 ) from the y-axis is

w12 B) 14
€y 13 D) 15
 fez(-6,-8)RERE

A} -6 B -8
c 6 D) 8
The ordinate of the point (-6,-8])is
ny -6 B)- -8
) 6 (D) 8

ﬁ:gu,--nmqmﬁﬁhﬁt?

| 110 ]
gOlﬂ* 0) be the origin and co-ordinates of the point Pbe | £ ¥)

C(A) T ® Fdm
(c) W o) W
SS/A/605
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100.

[110]
he mid-point of line segment AB s (2, 4 ) and the co-ordinates of

point A are [ 5, 7 ), then the co-ordinates of point Bare

@ (20-2) B) (1,-1)

© (-2,-2) D) (=1,1)
Mgtﬂm#ﬁwﬁ%ﬁﬁﬁmlu.-mmi-ﬁ,w;i?hffa'ﬁ
¥ & Pt & |
A 1-2.-2) B (2.2)

© (-22) D) (2,-2)

The co-ordinates of the ends of a diameter of a circle are ( 10, -6 |

‘and (- 6, 10 ). Then the co-ordinates of the centre of the circle are

a (=2,-2) - (B) (2.2}
iCy (-2,2) D) (2,-2)
o Feh B & el 35 i (4, 6), (0,4) 3 (5,5) B A P

% Fow b FomS 6
Ay (5,3) . iB) 13,4)
€} (%.4) M (3.5)

The co-ordinates of the vertices of a triangle are (4,6 ), (0, 4 ) and

(5, 5) then the co-ordinates of the centroid of the triangle are

(A) (53] B (3,4)
€) (4, 4) (O (3,5]
[ 85/A/605 |
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10.

11,

'- (110
. ﬂgﬂ*‘i‘m‘“‘“ﬁm‘ﬂﬂ%ﬁ%[-s.-1}.[3.-5;:{&1

_[5,-11'%1

find the area of the triangle whose vertices are (- 5,~ 1), {3, )
and { 5] 2 ]'

el v 1 foed 9J3 W &) @A w1 et Y8 At A Bl

The diagonal of a cube is 93 cm. Find the total surface arca of
cube,

R {3 1 WA A 0 ~2J3x+1=0 % 7 T4 HI

Using quadratic formula find the roots of the equalion
2::2-2&“1:[:.

3+11+19+.._+ﬁ7ﬂu’mﬁﬂrﬁ#1
Findﬂmcmmnfafli+19+...+ﬁ?.
mmmMHEﬁﬁgﬂmmwa@wEﬂm%’
T W

If 5th and 9th terms of an A.p. are 43 and 79 respectively, find the

AP,
ﬁwmwﬂmmﬁhﬁaﬂmzﬁnaﬁﬁﬁu

Find two consecutive positive integers, sum of whose Squa res
is 363. |

21 wEEl % T H AW 1ma|aﬂﬁmmzﬁaﬁrﬁwmmgﬂil
wa wud & forg wfte Rl

The difference of squares of two numbers is 180. The square of the

smaller number is 8 times the larger number. Write the eguation
for this statemenl.

I.EEJ’ELE’D_E’I Page 39 of 44
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vy - ¥ / BRCTION - B

Yy Fwila Wyt / Short Answar Type Questions
gd o fvel 157 b gy

wr wemr 3 & 30w ry 3w wrT

wFT & fay 3 siw it i
Question Nos. 1 to 30 are Shorl Ansier Type Questions. Ans,,,,
Un
15 questions. Each queston carries 2 marks. 15«2 :IH
0

1. qﬁﬁaﬂwmmﬂﬁwm?ﬂﬂﬁmﬁ#mizqim%mm

If the radius of basc of a cone is 7 €m and its height is 24 ¢ then

find its curved surfacc arca.

2 ww ud A fre @ gl w7 80 &1 40 e ® WS T aw g o,
Sa%a 7 Wl
The length of the minute hand for a clock is 7 em. Find the ur.,

swept by it in 40 minutes.

3.  fiuz %t & tan 7° . tan 60° . tan 83° = J3 .

Prove that tan 7° . tan 60° , tan 83° = V3.

4. mﬁqﬁiﬁﬁr’ﬁ:mﬁﬂﬁgﬂ[—1.?1@!(4,-33?15’!&13&:;
teravz 1 2 : 3 % s ¥ A Rhn s R

Find the co-ordinates of the point which divides linc scgmen
joining the points (-1, 7 ) and (4, — 3 ) in the ratio 2 : 3 internall

Page 38 of 4
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. | 110]
b & 1% 1an9® . 1an27° =¢o1 63°.cot 81°,
prove that tan9* . tan27® =cot 63°.cot81°.
4 1.
aft cosA=% B cot AR cosec A F 7 |

Il cos An% then find the values of cot A and cosec A.
g 7 1 @l @ dam F ww a0 1 i el &1 e 0 38 g
St 31 it T W) an ) v W 2

A ladder 7 m long makes an angle of 30° with Ul
ladder touches the wall.

fig @ @ BE:

\e wall. Find the

height of the point on the wall where the

m “ma@ ﬂHCDﬁ L El Aﬂﬁ;q% g W E &
co# F shirede w2 A fag & 6 AABE - ACFE
¢ side AD ol a pafallclngram

prove that AABE = ACFB.
awo 21 feg ®

E is a point on the extended part of th
ABCD and BE intersecls CcDat F; then

21. Aﬂcwmmﬁw%ﬁaﬂzc

AB? =2AC2.

ABCis an isosceles right triangle with £C as right angle. Prove that

AB2=2AC%.

a2, Hﬁmﬁ=%ﬁlﬁEMU+:usEHﬂ'ﬁmﬁl

ir Lﬂnﬂ-%then find the vaiue of sin 0 + cos 0.

23, 1M smaancusm-:a‘lﬁaﬁfaﬂmnﬁﬁm% A A % WA §@

If sin3A=cos({A-26°%), where 3A is an acute angle,

then find the

value of A.

[55/A/605 | Page 41 of 44




13.

R B por @ @ g 5 30 T 43l PO T PR ST 3,
PS_PT -2prQ, M fr@ Wt % aPor
SO TR RNttt v e
fng= &
In & triangle POR, two points S and T are on the sides PQ ang -

respectively such that %-% and £PST =£PRQ, then prgy, thay

APOR is an isosceles triangle.

13.

AB = AC 418 U wARwR AABC H) WG T ¥ CB W fan E 0w fan
2 af* ap 4 BC 3 EF 1 AC ®, @ Rg w1 % AABD ~ AECF 3

E is a point on side CB produced of an isosceles AABC
AB= AC. If AD 1 BC and EF 1L AC, prove that AABD ~ AECF,

14.

qmmcﬂamﬁmaﬂtﬂcwmﬂﬂﬁm%ﬁﬁ
gmaﬂmammammlﬁzﬂpmm=wr3qﬁﬁ%;ﬁmﬁ

% AABC ~ APQR.
Sides AB and BC and® median AD of a AABC are respectively
proportional to sides PQ and PR and medium PM of another APQR

Then prove that AABC ~ APQR.

15.

AABC Ul ADEF T9EY & aU1 1% S waw: 9 W aw 64 A7 §

af2 DE = 5-1 ¥4 Bl @l AB Ta Sl

AABC and ADEF are similar and their areas are 9 emZand 64 cm’
respectively. If DE = 5-1 cm then find AB.

16,

1+cos® 1+4cosb

1-cos0  sin®

fog =i %

1+cos0 _1+cnuﬂ

Prove that

Page 40 Df_“"'-‘;
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W fae @t f 1“‘“’“ —tan0) |y, gtan 0-2scc0 .tano,

Fands secO+tan0)

Prove that (secO-tan0) -I+llun=ﬂ-2m‘.'ﬂ 1an0,
{secl+1an0)

6. @ g @ Rl w19 3 oo B AT G A fiy
Frme) aha 2t el ) aifil % g & @O A

““‘I

e )

The radii of two circles are 19 ¢m and 9 em respectively, Fing , thy

radius of the circle which has circumference equal to the ¢,
R g
the circumferences of the two circles. !
/J:-'-. Prfefan @27 &1 mea 70 &1 !

-

/ @ 3aE | 11-13 | 13-15 | 15-17 | 17-19 [ 19:21 | 21-23 2335 |
ENRAT 7 6 9 13 | 20 5 [ 1

Find the mean of the following distribution |

i - )
Class- 11113 13-15 | 15:17 | 17419 [ 1921 | 2123 | 2351

‘:b , interval
D Frequency 7 6 © 9 13 20 S 4 |

.
(;r 38. ﬁﬁg%ﬁﬂﬂ%m4ﬂiﬁﬁmiﬁﬁﬂﬁﬁ*;ﬁgt '
V3
<0

(vfefim) 18 #fi 3t 6 @ft §1 v R & vyt dwm wa =) |

5. % The slant height of a frustum of a cone is 4 cm and the perime:«s |
/&Bq (circumlerences] of its circular ends are 18 ¢m and 6 cm. Find -

"L curved surface firea of the frustum, \

= W '3 \¥ M
. R b
3 412 2= 2

5S/A/605 ik > uE ' Pege 44 o
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#1d TAOU W | Long Answer Type Questions
@3lﬁ3!ﬂﬁﬁﬁﬁmilﬁﬁﬂhﬁ4wﬁtmi|wa}m
 fry 5 3% Fruffee &1 4% 5=20

Ansuwr any
Adx5= 20

- Nos. 31 to 38 are Long Answer Type questions.

m,sﬁons. Each question carries 5 marks.

i Y T I x+3y-6=0 TN 2x-3y~12=0 w1 ey Wil Al

o

Draw the graphs of the pair of linear equations X +3Y - p=0 and

3x - 3y-12=0 and solve them,
32, ﬁﬂﬁﬁﬂﬁ%ﬁﬁﬂ@ﬁmqﬁﬁp%%ﬂﬂ#
ﬁaﬁvﬁ_ﬁléﬂﬁamﬁaﬁﬂmmﬁﬁiﬂa’tﬁgﬁ ausy @4 R

the other triangle
| then

vt #1 3

if one angle of a triangle is equal Lo on¢ angle of
these angles are proporhiona

and the sides included between
prove that the triangles are similar. .

33. ﬂﬁﬂﬁﬁﬁﬁmmﬁ:ﬁﬂﬁ%iﬁsiﬁlmw%
wﬂ@ﬂ%ﬁmmiﬁl

W@ A A b

A two digit number 1s four times of the sum of its digits and twice

the product of its digits. Find the number.
s 7.6 i o s Taes Wi AR w5 ;8 & s fafi Wl 2l
it % wifye)

Draw 4 line segment of length 76 em and divide it in the ratio

5 : 8. Measure bolh parts,

[Ss/A/605 |




E

. I“Ur
CCUEN % )

2 A wsasd e anwe 50 b ud gl B :

o)
= |

28.

30.

LRSI

T
The sum of two numbers is 50 and one AUMbEE 18 = tines of the

other ; then find the numbers.

fag &1 5 5 V3w oty dom Rl
Prove that 5- ﬁ is an irrational number,

K& g i & e Regd (1,1, (8, k) 3l (=1, 4 R 2

For whal value of k points { 1, 1), (3, k) and [ =1, 4 ) 4,

collinear ?

Y- W g wt A fegl (6,5 ) AR (-4, 3) & s
&

Find such a point on y-axis which is equidistant from the poin:,
(6,5)and (-4,3).

xJ 41 W x + 18 M Sl

Divide x* +1 by x + 1. :

aftere frvra wERe 1 M % 504 @1 1188 & HoFo Fd Hi)
Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188,
fzum wfem 2E+5:—3=D%mmﬁaﬂlﬁﬁwﬁtﬂ A
&

Find the discriminant of the quadratic equation 2x%+5x-3=0
and find the nature of the roots also.
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